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QUESTION 1

In Report Studio, when should authors use a Generated Prompt?

A. They only want the user to be able to choose one opton.

B. They are unsure of the most appropriate prompt type to choose.

C. They want to use the same prompt on a prompt page and a report page.
D. They want the optons to be based on selectons made in another prompt.

Correct Answer: B

QUESTION 2

In the report shown in the image,

Order Details for ActiForme

Rerailer narme | Revenue | ‘ Crder number ! [Dake | Product name E Cuankity
1 Far 1 Sparks shap 6,432,250, 32 RO0072 Jan 12, 2004 Canyon Mule Extremns Backpack o7
4 Galf only 5,015,375.5¢ BOO0S? Feh 9, 2004  Flicker Lantern 158
4 Your Eves 873,022, 36 b00235 Mar 5, 2004  Star Dame i |
tarhils Spork 5,999,906, 59 BONZ38 Mar 8, 2004  Sun Blocker 963
foraparento 6,077,377.8 BLO0294 Apr 12, 2004 Canyon Mule Climber Backpack. 299
Acresorios Importados, 5.8, de C.%,  7,945,373.51 BON3EARE May 10, 2004  Palar Wave 31
Gicquaterds 12,696,927.69 00365 May 10, 2004 Star Peg 1,152
ackiFarme 2,005,590, 67 00455 Jum 7, 2004 Canyan Mule Caoler 604

users click on the Retailer name in the lef and see the related data on the right. What is the technique used to create

this report?

A. Master-detail relatonship where the master and the detail is in a separate list

B. Drill-through defniton where one column in a list drills through to a separate list in the same report
C. Master-detail relatonship where the master and the detail is in the same list

D. Drill-through defniton where one column in a list drills through to the same list in the same report

Correct Answer: B

QUESTION 3

An author wants to apply formatng to a list report. In Report Studio, the author clicks a column in the list, clicks Select

Ancestor, and then clicks List Columns. In this situaton, which of the following is true?
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A. Formatng all columns will also format aggregate rows in the list.

B. Formatng all columns overrides formatng for an existng formated column in the list.

C. Formatng all columns afects all subsequent objects added to the report page.

D. Formatng all columns ensures any new columns added to the list will have the same formatng.

Correct Answer: D

QUESTION 4

In Report Studio, an author wants to conditonally format a list report according to the revenue generated by each
product line. The Revenue data item does not appear in the list report but is contained in Queryl.

Which of the following must the author do in order to apply this conditonal formatng?
A. Make the Revenue data item a property of Queryl.

B. Make the Revenue data item a property of the List object.

C. Make the Revenue data item a property of the Page object.

D. Make the Revenue data item a property of the Variable object.

Correct Answer: B

QUESTION 5

In Report Studio, a block object contains a text item in the page header. If the author reuses the block in the page
footer, which of the following is true?

A. The author can replace the child object with an object of a diferent type.

B. The author must replace the child object with an object of the same type.
C. The author can replace the parent object with an object of the same type.
D. The author must replace the child object with an object of a diferent type.

Correct Answer: A
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